CRITERIS DE CORRECCIO ANGLES

1.

2

Resposta correcta: a

Resposta correcta: b

. Resposta correcta: ¢

. Resposta correcta: at the end of the 1980s o in the late 1980s.

. Resposta correcta: ¢

. Resposta correcta: b

. Resposta correcta: increases

- Resposta correcta: Peaple first figured that out less than 200 years ago.

. Resposta correcta aproximada: Boiling water to make tea and coffee lowered

the incidence of disease among workers and workers were able to stay awake
longer, so they did not fall asleep while on the job.

10. Resposta correcta aproximada: Public health officials are currently concer-

ned because young people are consuming more and more caffeine.
Increased caffeine consumption may have negative effects, although to date
there is no clinical evidence in support of that assumption.



